HYDRAULIC COMPONENT FACTORY




pressor Free Version

Products Contents

Safety and Shut-off Block -~
2-way Ball Valves with Threaded Connections -—-———-————————
3-way Ball Valves with Threaded Connections -
2-way &3-way Ball Valves with Mounting Holes -~ -
2-way &3-way Ball Valves with Locking Devices ——————-——-—-—-—--—————
2-way Ball Valves with Welding Connections .
2- way Ball Valves with DIN-connections -~~~ n
2-way& 3-way Board Type BallvValves—-——--—--———-————— -
2-way Ball Valve with SAE-flange -
BKH&MKH Ball Valve with SAE-flange et
2-way Ball Valves with SAE-flange(KHZ-series) -
3-Way Ball valves with SAE-flange--——-—--—---—-—--——--——-—— -
BKH-SAE-FS & MKH-SAE-FS Ball Valves with SAE- flange -
Ball Valves with Mineral Quick Connections -~

Multi-way Ball Valves with Threaded Connections -

Low Pressure Ball Valves with Threaded Connections -~

13

14

15

16

18

21

> www.hidropaks.com.tr 1S09001:2008

KHB HYDRAULIC COMPONENT FACTORY

Checkvalves e S e o T e e M e 33

Pressure Testing Adaptor ----———— - oo 34
Pressure Testing Hose Assembly - oo 36
Multi-funetion Inflator ——— e 38
Split Flangeg = s e st S e s 39
Handlg ————cmm e s e e s e 40
Bladder Accumlator ----—----——=-—-mr—mmmmmmm e 41
ASME Accumulator - 4D
PED(CE marking) Accumulator - 44

www. hidropaks.com.tr 1ISO9001:2008 <I




pressor Free Version

Safety and Shut-off Block

&1 General

The safety and shut-off block is used to shut off and discharge hydraulic

accumulators or user units.

E. How to order
EX 2 0 0 B O 8B B -

m @ @ @ 6 () () (8)

1) SAF = SAF series safety and shut-off block
2 ) Safety and Shut-off Block Size: 10=DN 10

20=DN 20

32=DN 32
3 ) Discharge: M = Manual discharge
4 ) Block material: 1= Carbon steel
5 ) Seal material: 2 = NBR (Perbunan)

6 = FPM (Viton)
6 ) Pressurerelief valve: N =Adjustable using spanner
7 ) Pressure setting: e.g. 210 bar (max. pressure 315 bar)
8 ) Thread connection to: A=150 228 (BSP)
B =DIN 13 ( Metric IS0 965/1 )

9 )Adaptor: To accumulator ( see point 5), e.g. S13 =1S0 228-G2A

(9)

Ib www.hidropaks.com.tr 1509001:2008

KHB HYDRAULIC COMPONENT FACTORY

Safety and Shut-off Block

& Principle Chart

E.D!mensions
4.1 Safety and Shut-off Block Size 10
S
'f;

S S-adaptor

see Accessories

150228-G1/4

IV

20 rﬁ
[ e |

26
14

|

150228-61/2

S144
[

=

Il AW
| [1S0228-61/2
434 pressure release valve

\P system connection

\sﬁ;_t-off' valve

I 23
= r——
N
o e
il =T =
) 3 ﬁ 2
o LE =F
= 5
L)
e
iz
|
i

20.5

=
| 3
? SM3dxz. 150 6148/D1N3RG2 Part 3

direct operated pressure relief valve size 12

www.hidropaks.com.tr 1ISO9001:2008 dl



pressor Free Version

Safety and Shut-off Block

KHB HYDRAULIC COMPONENT FACTORY

Safety and Shut-off Block

{4.Dimensions

4.3 Safety and Shut-off Block Size 32

l4.Dimensions

4.2 Safety and Shut-off Block Size 20

S S-adaptor
S S S see Accessories
1 S-adaptor
$ i=|ﬁ see Accessories - J [
' = !
] -] I
—] | (1] ¢
I — y =
- ! ] | S | 2
;.'Ia [-L I ? = = M2
o~ o =T 2 il
o~ I
N2 = : f..‘. S " _@_ \\_ - -
. L = i T \X
wy P S e - e— = 23 w
. _B(4E, = o 3 o 8 2
J Ry a0
(=]
E = o
= B L}
- = i ‘ -y
| l =.i= l \P system connection
. P i
& 150228-611/2 !
= ol o I shut-off valve
100 |l shut-off valve
- | P system connection |
150228-61 ' '
| Ak
-
]
N
i S Sshut-off valve
17
i 30 ]
$25 934
150228-G1/4 150228-G1/2
2 Lk
= s <!
o~ = | -
b >\- ! ] L — -
330 e
N 1
g =1 0 = < Fr—
- 2 \
= = 02
g ¢ M1
(=) o ¥,
= wl )
= o ) _}_ 2
-
e
T l
4 | pressure reledse valve
l o
i~ I
i H pressure release valve |
~ | a ' direct operated| pressure relief valve size 12
direct operated pressure relief valve size 12 i 29
_!_J 182

Ib www.hidropaks.com.tr 1S09001:2008

www.hidropaks.com.tr 1S09001:2008 QI



pressor Free Version KHB
HYDRAULIC COMPONENT FACTORY

Safety and Shut-off Block Safety and Shut-off Block

i 5.Accessories 5.2 Adaptor for piston accumulator

Adaptor for SAF to connect the safety and shut-off block with the accumulator
5.1 Adaptor for standard bladder accumulator

76
D2
02 |
D] 7 iz
01
| : g f : %
¥ J/ I 17 7!
; : E @ K/ | / o i / A | /
s A ]
2= A =
& 7" | / i / \u | ? o E -
ZE 3 2 ANHY ° =
= Vi M33x2 SW50_AA—— SH70 AN
& | VA 38 ¢ . % = n
, M33x2 , K ¢ | ¢ ' 9
Diagram 1 T Diagram 2 : /] ! ¢
K D1 T
!
' ! $52. 5 D1
i D2
i D1 Diag.5 Diag.6
! |
I | o~ ] b= : : Corresponding
| | I i | ! | Model Accumulator Model Adaptor Diag.no D2 Thread D1 Thread & adant
— , ] -adaptor
| ; / 1 | | SK10/350-2.5 10 7.5L K408 5 G11/4 G1A 812
Hl <} g 1 A SAF10/20 I t | ! !
| SK210/350-10 10 45L K408 G11/2A 513
105 = 18 SAF32 S5K21/350-5010 120L K409 G2A 5309
105 | |
4;10 [|] ; 5 i hoor = O-ring supplied as part of adaptor
L1100
=
3.Adaptor for diaphragm accumulator
Diagram 3 Diagram 4 | D2 |
l D1
t
Model Accumulator Model D1 Thread Adaptor Diag.no K(sw) L1{mm) L2(mm) D2{mm)} i /
SB330/400-0.5 to 1L G3/4A 510 41 28 156.5 | ?
i i | | - i (o)
SB550/600-1 to 5L G1A SN 34 . / |
- - | 46 E [ 165 N | 5
SB330/400-2.5 to 5L G1'4A 512 1 37
SB330/400-10 to 50L | ' ' |
SAF10/20 | i G2A 513 65 44 20.5 2 |
SB440/500/600-10 to 50L / I
M30x1.5 520 41 15 17.5 40 L
Connection with I | I i I M33x2
i M40x1.5 521 2 55 20 20.5 54
metric fine thread I | | I | I ¢38
M50x1.5 522 | 65 20 20.5 64
SB330/400-0.5 t0 1L G3/4A $305' 28 58 K
SB550/600-1 to 5L | GlA |  s306 | 34 64
SB330/400-2.5 to 5L G1'/4A Ssao7’ | 3 av 67
SB330/400/600-10 to 50L 5309° 74 Model Accumulator Model Adaptor S-adaptor K(SW) L1{mm) L2({mm) D2(mm)
SAF32 | [ G2n | — . | 44 _ ,
SB440/500-10 to 50L 5308 115
' ' © | ' ' ' ' i e G1/2A S30 41 14 17.5 33
Connestion with Mo ! 2740 | | 12 | e | 35 SAE10/20 SBOAG-0.1t0210-1.3L ’
M40x1.5 $340' 4 60 [
fFEUL fine Sofeag ol 20 51 | ' - SBOE2.0103.5L G3/4A $31 41 16 18.5 40
M50x1.5 §350" 75 SBOA6-400-1.3 to 4L '
Mote:Adaptor in Diag.3 & Diag .4 supplied with 4 off int.hex.screw M16x45 including O-ring O-ring supplied as part of adaptor

www.hidropaks.com.tr 1S09001:2008 www.hidropaks.com.tr 1S09001:2008




pressor Free Version KHB
HYDRAULIC COMPONENT FACTORY

2-way Ball Valves with Threaded Connections 2-way Ball Valves with Threaded Connections

EI How to order — §§§§ §
E0-G7-51 6 B B o = ‘ -

M @ B @ (5 (8
\\\\‘ | ]

LW
LW

di
di

(1) Model: KHB:Square body DN 04 - DN 25
KHM: Eight-square body DN 32 - DN 50
(2) Thread size: e.g. G1/2
(3) Block and connection material: 1 = Carbon steel
4 = Stainless steel 304
(4) Ball & stem material: 1 = Carbon steel
4 = Stainless steel 304
(5) Ball seat material: 1 =POM 4 =PTFE 5=PEEK
(6) Gonnection & stem seal: 2=NBR 4 = FPM(Viton)

JB984-77 1S0 228 ANSI B1.20.1

JB984-77 Male Face Seal

6 =EPDM . Model | DN | PN | LW | RA | di i L [ 11 | & H ht | h2 | h3 | swi | swe
KHB-M12x1.25 4 500 | 4 8 M12 x1.25 g | 61 | 37 | 28 | 445 13 | 32 | 8 9 22
I'2.Accessories | KHB-M16x1.5| 6 | 500 | 6 | 11 | Miext.5 | 11 | 69 | 37 | 28 | 445 | 13 | 32 | 8 | o | 2
KHB-M22x1.5 | 8 500 | 8 16 M22x1.5 12 76 | 42 | 32 52.5 17 | 40 | 8 9 27
| KHB-M27x1.5 | 10 | 500 | 10 | 20 | M27x1.5 | 12 | 76 | 42 | 32 | 525 | 17 | 40 | 8 | 9 | 30
KHB SW1 'KHB-M30x1.5 | 16 | 400 IE [ 24 | m3ox1is | 13 84 47 | 38 | 635 | 19 | 46 | 11 712 | a2
KHB-M36x2 | 20 | 315 | 20 | 30 M36x2 15 | 108 | 60 | 48 | 75 | 24 | 57 | 12 14 | a1
SW2 - | KHB-M42x2 | 25 | 315 | 25 | 35 | M42x2 | 18 | 116 65 | 57 82 | 285 | 64 | 12 | 14 | 50
/ e  KHM-Ms2x2 | 32 | 315 | 30 | 40 | Ms2x2 | 20 | 149 | &4 | 75 [1045 | 875 | 84 | 14 | 17 | 60
T [ z [y . KHM—MBUXEI 40 | 315 | 38 | 50 | MB0x2 | 22 | 174 | 21 | 85 1155 42.5| 95 | 14 | 17 | 7O
\ KHM-M72x2 | 50 | 315 | 48 | 60 | M72x2 | 24 | 178 | 100 | 105 | 133 | 525 | 1125 | 14 | 17 | 80
p—
L o~ ISO 228 Female
T 1T & Model pN | BN | W | @ | i | L | w1 | 8 | H | h h2 h3 | Sw1 | sw2
— | KHB-G1/8 | 4 | 500 | 6 G1/8 | 10 69 37 | 28 | 445 | 13 32 s | 8 | 22 |
| y KHB-G1/4 | 6 | 500 6 | ci/4 | 14 | 69 | a7 28 | 445 | 13 32 | 8 | 9 | 22
L1 KHB-G3/8 | 10 | 500 10 | G¥8 | 14 | 72 | 42 32 | 5256 | 17 | a0 [ 8 [ 9 | 2z
= LHB-G1/2 13 500 13 G1/2 16 83 48 35 52:5 17 | 40 8 | 9 30
L KHB-G1/2 | 16 | 400 15 | G2 | 16 | 83 | 47 38 | 635 | 19 | 46 | 1 | 12 | 32
KHB-G3/4 | 20 | 815 | 20 | G3/4 | 18 | 95 | 60 | 48 | 75 | 24 | &7 | 12 | 14 | 41
KHB-G1 | 25 | 315 25 | G1 | 205 | 113 | 65 57 | 82 | 285 | 64 | 12 | 14 | 50
KHB-G1'4 | 25/32 | 316 | 25 | G144 | 22 | 120 | 65 60 | 82 | 285 | 64 | 12 | 14 | 55
KHB-G1Y2 | 25/40 | 315 | 25 | G1v2 | 24 | 130 | 65 60 | 82 | 285 | 64 | 12 | 14 | 60
KHM KHM-G1V4 | 32 | 315 | 30 | G1v4 | 22 | 110 | 84 75 | 1045 | 375 | 84 | 14 | 17 | 60
SW1 KHM-G1/2 | 40 | 315 | 38 | G172 | 24 | 130 | 91 85 | 1155 | 425 | 95 14 | 17 70
SW2 KHM-G2 | 50 | 315 48 | G2 | 26 | 140 | 100 105 | 133 | 525 | 1125 | 14 | 17 | 80
b _ ANSIB1 20, INPT Female
— ~_| — h— Model | DN | PN | LW a1 | L [ i [ ® H | h1 | h2 | h3 | Sw1  sw2
| KHB-1/8NPT | 4 500 6 |1/8NPT| 105 | 69 | 37 | 28 | 445 | 13 | 32 8 9 22
F ! :< | KHB-14NPT | 6 | 500 | 6 |1/4NPT| 14 | 69 | 37 | 28 | 445 | 13 | 32 | 8 | 9 | 22
I | I =N KHB-3/6NPT | 10 500 10 | 3/BNPT| 14 72 | a2 32 [ 525 | 17 | 40 | 8 | o 27
T [ - KHB-1/2NPT | 13 500 13 [12NPT| 17 83 | 48 | 35 52.5 17 | 40 | 8 9 30
>: l :( | KHB-3/ANPT | 20 | 315 | 20 |3/4NPT| 19 | 95 | 60 48 | 75 | 24 | 57 | 12 | 14 | a1
KHB-1NPT | 25 315 25 | INPT | 225 | 113 | 65 57 82 | 285 | 64 | 12 | 14 50
- [ | KHB-14NPT | 25/32 | 315 | 25 |1YANPT, 225 | 120 | 65 | 60 | 82 | 285 | 64 | 12 | 14 | 55
i | KHB-1/2NPT | 25/40 | 315 | 25 |1U2NPT, 25 | 130 | 65 | 60 | 82 | 285 64 12 | 14 | e0
KHM-1'/4NPT | 32 315 30 |1/anNPT| 25 120 | 84 75 | 1045 | 375 | 84 | 14 17 60
L 'KHM-1/2NPT | 40 | 315 | 38 |1Y2NPT, 25 | 130 | 91 85 | 1155 | 425 | 95 | 14 | 17 | 70
| KHN-2NPT | 50 | 315 | 48 | 2NPT | 30 | 140 | 100 | 105 | 133 | 525 | 1125 | 14 | 17 | 80

PN=bar

b www.hidropaks.com.tr 1S09001:2008 www.hidropaks.com.tr 1S09001:2008



pressor Free Version KHB
HYDRAULIC COMPONENT FACTORY

2-way Ball Valves with Threaded Connections 3-way Ball Valves with Threaded Connections

ﬁ How to order

= S Xg
| N N - B2 - - K B 4 D
o
= - 5 = s (W = =l = (1) (2) (@) () () (6) (7)
— [ = S| T Ty = — T T x| ©
\ T o L\ (1) Model: KHB3K: Square body DN 04 - DN 50
EE\; S (2) Thread size:e.g. G1/2
i I | (3) Porting pattern: See chart of porting pattern
(4) Block and connections material: 1 = Carbon steel
4 = Stainless steel 304
(5) Ball & stem material: 1 = Garbon steel
SAE J514 DIN 2353 LR DIN 2353 SR .
4 = Stainless steel 304
(6) Ball seat material: 1=POM 4 =PTFE 5=PEEK
SAE J 514 UN/UNF Female i i
r - - - - - - ! - . - ! (7) Connection & stem seal: 2=NBR 4 = FPM(Viton)
Model | DN PN | LW di) | 1 | L ki | B | H | h1 h2 h3 SW1 | Sw2
KHB-SAE4 | 6 | 500 | 6 | SAE4 | 12 | 69 | 37 | 28 | 445 | 13 | 32 | 8 9 | 22 - 6 =EPDM
KHB-SAE6 | 10 500 | 10 | SAE6 | 13 72 | a2 | a2 52.5 17 | 40 8 9 27 | E‘-Pf-’ﬂ'“g pattern (See chart)
KHB-SAE | 13 | 500 | 13 | SAE8 | 15 | 83 | 48 | 35 | 525 | 17 40 | 8 | 9 | 30
KHB-SAE12 | 20 | 15 | 20 SAE12| 20 | 85 | 60 | 48 | 76 - 0 7 I . O [ Hydraulic oil just can flow into valve through port 0
KHB-SAE16 25 315 | 25 | SAE16| 20 13 65 | 57 82 285 | 64 12 14 50 | }; 4 h! I I 5 ed ?_J P s L type 90 reversing
KHB-SAE20 | 25/32 | 315 | 25 | SAE20| 20 | 120 | 65 | 60 | 82 | 285 | 64 | 12 14 | 55 i the valve only can be sealed under the two
KHB-SAE24 | 25/40 316 | 25 | SAE24 | 20 130 65 | &0 82 285 | 64 4 14 680 situations:
KHM-SAE20 | 32 | 315 | 30 |SAE20| 20 | 120 | 84 | 75 | 1045 375 | 84 | 14 17 | 60 (1) Pressure at the closed port is zero; 3 2 3 2
KHM-SAEZ24 | 40 . 315 | 38 | SAE24 | 20 . 130 | a1 | 85 | 1155 . 42.5 855 | 14 17 | 70 (2) Pressure at the closed port is lower than at the _/ \
KHM-SAF32 | 50 | 315 | 40 | SAE32| 20 | 140 | 100 | 105 | 133 | 525 | 1125 | 14 17 | 80 two open ports. 1 1
DIN 2353 Light series
T T T T T T T T T 0 A
Model DN PN LW RA d1 i Lo B H h1 h2 h3a = sw1 sw2 T type 90 reversing
KHB-O6LR | 4 | 500 | 4 | 6 | MI2x15| 10 | 67 | 37 | 28 | 445 | 13 o ; 3 -
KHB-0BLR | 6 | 500 | | 8 [Mi4xt5| 10 | 67 | 37 | 28 | 445 | 13 | 32 | 8 | 8 | 22 N\ al
_ KHB-10LR | 8 500 [ & | 10 | M16x1.5 | 11 74 42 32 52.5 17 40 8 8 27 | 3 2 3 2
KHB-12LR | 10 | 500 | 10 12 | mMi8x15 | 11 | 74 | 42 s2 | s25 | 17 40 8 9 27 | _/ K
KHB-1SLR | 13 | 500 | 13 | 15 |M22x15 | 12 | 8 | 48 | 35 [ 525 | 17 | 40 | 8 | 8 | 30 | ] 1
KHB-15LR | 13 | 400 | 13 | 15 | M22x15 | 12 | 82 | 47 | 38 | 635 | 19 | 46 1 12 | 32 | - -
KHB-18LR | 13 | 500 | 13 | 18 | M26x1.5 | 12 | 82 | 48 | 35 | 525 | 17 | 40 8 9 30 gDimensions
KHB-18LR | 16 | 400 | 15 | 18 | M26x1.5 | 12 | 82 | 47 | 38 | 635 | 19 | 46 11 12 32 |
KHB-22LR | 20 | 315 | 19 22 | M30x2 | 14 | 101 | 60 48 | 75 | 24 57 12 | 14 41 KHB3K
KHB-28LR 25 | 315 | 25 | 28 | M36x2 14 | 108 | 65 | 57 | 82 | 285 | 64 12 | 14 50 | SW
KHB-35LR | 25/32 | 315 | 25 | 35 | M45x2 | 16 | 112 | 65 | 60 | 82 | 285 | 64 12 14 50 | /—
KHM-35LR | 32 | 315 | 30 | 35 | M45x2 | 16 | 141 | 84 | 75 | 1045 | 375 | 84 | 14 17 | 60 | Lt
KHM-42LR | 40 | 315 | 38 | 42 | M52x2 | 16 | 162 | 91 | 8 | 1155 425 | 95 | 14 | 17 | 70 C‘_gl
DIN 2353 Heavy series : [ - :
Model |~ DN PN LW RA at | ¢ | w L1 B | H hi | h2  h3 | SW1 sw2 i
KHB-08SR | 4 | 500 | 5 | 8 | Mi6x1.5 12 | 73 | 37 | 28 | 445 13 32 8 9 22
KHB-10SR | 6 | 500 | 6 | 10 | Mi8x15| 12 | 73 | 37 | 28 | 445 | 13 | 32 | 8 9 | 22 | e o=
KHB-12SR | 8 | 500 8 | 12 |M20x1.5| 12 | 76 | 42 | 32 | 525 | 17 | 40 | &8 9 | 27 | G =1 LB o T
KHB-14SR | 10 | 500 | 10 | 14 | M22x1.5 14 | 80 42| @ 525 | 17 40 8 9 27 | ] = |
KHB-16SR 13 | 500 13 16 | M24x1.5 | 14 86 48 35 52.5 17 40 8 9 30 f
KHB-16SR | 13 | 400 13 | 16 M24x15| 14 | 86 | 47 | 38 63.5 | 19 46 11 12 | 32 | \ y
KHB-20SR | 13 | 500 | 13 | 20 | M30x2 | 16 | 90 | 48 | 35 | 525 | 17 | 40 | 8 | 9 | 32
KHB-20SR | 16 | 400 | 15 | 20 | M30x2 | 16 | 90 | 47 | 38 | 635 19 | 46 | 11 | 12 | 32
KHB-25SR | 20 | 315 20 25 M36x2 18 109 | 60 48 75 24 57 | 12 | 14 | 41 | [
. KHB-30SR | 25 | 315 25 | 30 Md2x2 | 20 | 120 | 65 57 82 28.5 64 | 12 | 14 | 50
KHB-38SR | 25/32 _| 315 | 25 | 38 | M52x2 | 22 | 124 ' 65 | 60 82 | 285 64 | 12 | 14 | 55
KHM-38SR | 32 | 315 | 30 | 38 | M52x2 | 22 | 153 | 84 75 | 1045 | 375 | 84 14 | 17 | 60

PN=har

www.hidropaks.com.tr 1S09001:2008 www.hidropaks.com.tr 1S09001:2008



pressor Free Version
KHB HYDRAULIC COMPONENT FACTORY

3-way Ball Valves with Threaded Connections 3-way Ball Valves with Threaded Connections

| = N
=S " = ® i = - S = i 15 = =Ht +5 s
\ T .
N > N N\ N = N
D s @
I ! [ : I |
JB984-77 ISO 228 ANSI B1, 20,1 SAEJ514 DIN 2353 LR DIN 2353 SR
JB984-77 Male Face SealK SAE J 514 UN/UNF Female
Model [on [N [ w [ Ra | gt [ 7 [ e w8 H ] m][n]|nn]|[sw]s] _ Model Cov [ eN [ w [ e 0 [ Lt B | H [ nt | h2 | 3| sw1 s
KHB3K-M12x1.25 | 4 | 315 | 4 8 | Mi2x1.25| 9 61 a7 28 | 445 | 13 3z 8 9 35 KHB3K-SAE4 6 315 6 SAE4 12 | 69 | 37 | 28 | 445 | 13 32 8 9 | 35
KHB3K-M16x1.5 | 6 | 315 | 6 1 | M16x1.5 | 11 69 | 37 | 28 | 445 | 13 | 32 8 9 | 35 | | KHB3K-SAE6 10 | 315 | 10 | SAE®6 13 | 72 42 | 32 | s25 | 17 0 | 8 9 36
KHB3K-M22x1.5 | 8 | 315 | 8 16 | M22x1.5 | 12 76 42 32 | 525 | 17 40 8 9 | 38 | KHB3K-SAE8 13 | 315 13 SAE8 15 | 83 48 | 35 | 625 | 17 40 | 8 9 40
KHB3K-M27x1.5 | 10 | 315 | 10 20 | m27x15 | 12 76 | 42 32 | 525 | 17 40 8 9 | 38 | | KHB3K-SAE12 20 315 20 SAE12 20 | 95 60 | 48 75 24 57 | 12 14 | 49
KHB3K-M30x1.5 | 16 | 315 | 15 | 24 | M30x1.5 | 13 84 47 38 | 635 | 19 46 11 12 42 | | KHB3K-S Ae16 25 | 315 | 25 | saE16 | 20 113 65 | 57 82 | 285 | 64 | 12 14 | 56.5
KHB3K-M36x2 | 20 | 315 | 20 | 30 | M36x2 15 | 103 | 60 48 75 24 57 12 14 | 52 | KHB3K-SAE20 | 25/32 | 315 | 25 | SAE20 | 20 120 65 | 60 82 | 285 | 64 12 14 60
KHB3K-M42x2 | 25 | 315 | 25 | 35 | M42x2 | 18 | 116 | 65 | 57 | 82 | 285 | 64 | 12 | 14 | 60 | | KHB3K-SAE20 32 | 315 | 30 | SAE20 | 20 | 120 | 84 | 75 | 1045 | 375 | 84 | 14 17 60
KHB3K-M52x2 | 32 | 315 | 30 | 40 | M52x2 | 20 | 149 | 84 75 | 104.5 | 375 | 84 14 17 72 | KHB3K-SAE24 40 | 315 | 38 | sAE24 | 20 130 91 85 | 1155 | 425 | 95 14 17 70
KHB3K-M60x2 | 40 | 315 | 38 | 50 | M60x2 | 22 | 174 | 91 85 | 1155 | 42,5 | 95 14 17 | 79.5 | | KHB3K-SAE32 50 | 315 | 48 | sAE32 | 20 140 | 100 | 105 | 133 | 525 | 1125 @ 14 17 | 75
KHB3K-M72x2 | 50 | 315 | 48 | 60 | M72x2 | 24 | 178 | 100 | 105 | 133 | 525 | 1125 | 14 | 17 | 89 | ' '
DIN 2353 Light series
S5 a8 Ferale  Model DN | PN | Lw | RA d1 i L | 1 | B H | h | h2 ha | swi| s
KHB3K-06LR | 4 | 316 | 4 | 6 | M12x1.5 | 10 67 37 28 | 445 | 13 32 8 9 34.5
Model DN PN Lw ar i L L1 B H | hi h2 h3 sw | s | KHB3K-08LR | 6 | 315 | 6 | 8 | M14x1.5 | 10 67 a7 28 | 445 | 13 | 32 8 9 34.5
KHB3K-G1/8 | 4 315 | 6 Gi/s | 10 | &9 37 | 28 | 445 | 13 | 32 8 | 8 35 ' KHB3K-10LR | 8 | 315 | 8 | 10 | M16x1.5 | 11 | 74 42 32 | 525 | 17 | 40 8 9 37
KHB3K-G1/4 | 6 315 6 G4 | 14 | 69 37 28 445 | 13 32 8 9 35 KHB3K-12LR | 10 | 315 | 10 | 12 | M18x1.5 11 74 42 32 | 525 | 17 | 40 8 9 37
KHB3K-G3/8 | 10 315 | 10 Ga/g | 14 | 72 | 42 | 32 | 825 | 17 | 40 | 8 | 9 36 | KHB3K-15LR | 13 | 315 | 13 | 15 | M22x1.5 12 82 48 a5 52.5 17 | 40 8 9 40
KHB3K-G1/2 | 13 315 13 Gtz | 16 | 83 48 35 525 | 17 | 40 8 9 40 KHB3K-15LR | 13 | 315 | 13 | 15 | M22x1.5 | 12 82 47 38 | 635 19 46 11 12 40
KHBBK-G1/2 | 16 315 15 Gz [ 16 | &3 47 38 63.5 | 19 | 46 11 12 i KHB3K-18LR | 13 | 315 | 13 | 18 | M26x1.5 | 12 82 48 35 | 525 | 17 | 40 8 9 42
KHB3K-G3/4 | 20 315 | 20 | G3/4 | 18 | 95 60 | 48 75 | 24 | 57 12 | 14 49 | | KHB3K-18LR | 16 | 315 | 15 | 18 | M26x1.5 | 12 82 47 38 | 63.5 | 19 | 46 1 12 42
| KHB3K-G1 | 25 315 25 G1 | 205 | 113 65 57 82 | 285 | 64 12 14 56.5 KHB3K-22LR | 20 | 315 | 19 | 22 M30x2 14 101 60 48 75 24 | &7 12 14 52
KHB3K-G1'/4 | 25/32 | 315 25 | G4 | 22 | 120 65 60 82 285 | 64 12 14 60 KHB3K-28LR | 25 | 315 | 25 | 28 | M36x2 | 14 | 108 | 65 | 57 | 82 | 285 | 64 | 12 | 14 | 54
KHB3K-G1'/4 | 32 315 3 | et | 22 | 110 84 75 | 1045 | 375 | 84 14 17 55 | KHB3K-35LR | 25/32 315 | 25 | 35 M45x2 16 | 112 65 | 60 | 82 | 285 | 64 | 12 | 14 | 56
KHB3K-G1'2 | 40 315 38 | Gz | 24 | 130 91 85 | 1155 | 425 | 95 14 17 65
KHB3K-G2 | 50 315 48 G2 | 26 | 140 100 105 133 | 525 | 1125 14 17 70 DIN 2353 Heavy series
. Model DN PN W | RA | d1 | i | L | w11 | B | H | m | h2 n3 | swt s
ANSIB1 56. 1 NPT Female . KHB3K-085R | 4 | 315 | 5 | 8 | M16x1.5 | 12 73 I 37 | 28 | 44.5 ! 13 | 32 8 | 9 37
_ . ) ) . . ) } } . ] _ KHB3K-10SR | 6 | 315 6 10 | M18x1.5 | 12 73 a7 28 | 445 | 13 32 8 9 37
Model DN PN Lw g1 i L | B H hi | h2 h3 sW s KHB3K-12SR | 8 | 315 | 8 12 | M20x15 | 14 | 76 | 42 | 32 | 525 | 17 | 40 | 8 9 38
KHB3K-1/8NPT| 4 315 6| 1/8NPT | 105 | 69 | 37 | 28 | 445 | 13 | 32 8 9 3 | | KHB3K-14SR | 10 | 315 | 10 | 14 | M22x15 | 14 | 80 | 42 | 32 | 525 | 17 | 40 | 8 9 40
KHB3K-1/4NPT| 6 315 6 | 1/4NPT 14 69 37 28 44.5 13 | 32 8 9 3B KHB3K-16SR | 13 | 315 | 13 16 M24x1.5 | 14 86 48 35 | 5255 17 40 8 9 43.5
KHB3K-3/8NPT| 10 315 10| 3/8NPT | 14 72 | 42 32 525 | 17 | 40 8 9 36 | KHB3K-16SR | 13 | 3156 | 13 | 16 | M24x1.5 | 14 86 47 38 | 635 | 19 46 | 1 12 | 435
e 7 T AT = = = - 1 4 - 5 - el o T e te T o o
KHB3K-3/4NPT| 20 315 20| 3/4NPT 19 95 | 60 48 75 | 24 | 57 12 14 49 KHB3K-20SR | 16 315 15 20 M30x2 | 16 90 47 38 63.5 19 46 | 1 12 455
KHB3K-1NPT | 25 315 25| INPT | 225 | 118 | 65 | 57 | 82 | 285 | 64 12 14 56.5 | | KHB3K-25S5R | 20 | 315 | 20 | 25 M36x2 | 18 | 109 | 60 | 48 | 75 24 57 | 12 14 56
KHB3K-1'/4NPT| 25/32 315 25| 1'/4NPT 225 | 120 | 85 60 82 28.5 64 12 14 57.5 KHB3K-308R 25 315 25 30 | M42x2 20 120 B5 57 82 28.5 64 | 12 14 B0
KHB3K-1'/4NPT| 32 315 30| 1/4NPT | 25 | 120 84 75 1045 | 375 | 84 14 17 60 KHB3K-38SR | 25/32 | 315 | 25 | 38 | M52x2 | 22 124 65 60 82 285 | 64 | 12 | 14 62
KHB3K-1'/2NPT| 40 315 38| 1Y2NPT | 25 | 130 | 91 | 85 | 1155 | 425 | 95 14 | 17 70 PN=bar ' ' '
KHB3K-2NPT | 50 | 315| 48| 2NPT | 30 | 140 | 100 | 105 | 133 | 525 | 1125 | 14 | 17 | 75

PMN=bar

I» www.hidropaks.com.tr 1S09001:2008 www.hidropaks.com.tr 1S09001:2008



pressor Free Version
KHB HYDRAULIC COMPONENT FACTORY

2-way &3-way Ball Valves with Mounting Holes 2-way &3-way Ball Valves with Locking Devices

i?l. How to order

1 ] wdr
2l 4 |
@) KHB - G1/2- 1112 [l DS9 | i, / 3
E ¥ /
(1) (2) S ¥
BR- 5
(1) Ball valve model:KHB =2 way ball valve | ﬁr
KHB3K =3 way ball valve | P
(2) Locking device size: DS9=DN04-DN13 b
DS14 =DN04-DN25
DS17 =DN32-DN50
2-way Ball Valves with Mounting Holes -
5
, — =¥
)
‘GD'I i T w .N
' k4 4 | . a
E / 1 r
‘ ; - o y
| ' -
| ! e
'—ﬂ A E.Dimensions
L J
Full Holes Dimensions Thread Holes Dimensions
DN _ E F d DN | E _ F t _ g M
4 | 26 5 4.5 | 4 | 24| 6 | 65 | 9 | M™e
6 | 26 5 4.5 | 6 | 24 | 6 | 65 | 9 | Mé
10 . 32 | 5 | 6.5 _ 10 | 32 | 55 | 7 .10 | M8
13 _ 37.5 _ 4.8 | 6.5 | 13 | 36 | 6 | 85 | 1| Mé
16 _ 37.5 _ 5 | 6.5 | 16 | 32 | 8 : 7 | 105 | Me
20 45 6.5 6.5 _ 20 45 | 75 12 15 | M10
25 55 _ 6 6.7 | 25 | 45 | 15 12 15 M10
25/32 55 6 6.7 25/32 45 7.5 | 12 15 M10
3-way Ball Valves with Mounting Holes
g
£
I
=
B =
Full Holes Dimensions Thread Holes Dimensions
DN | E F d BN | E | F | t | @& | M
26 _ 5 4.5 _ 4 24 6 6.5 9 | e
6 | 26 5 ' 4.5 | 6 | 24 | 6 | 65 | 9 | M6
10 : 32 5 | 6.5 _ 10 | 3 | s5 | 7 | 10 | Mé T ' o =0 : 5 ' B ' 5 =
13 | 37.5 | 4.8 | 6.5 | 13 [ 36 | =8 | 85 | 1| M& ode | ! | | | |
16 | 37.5 | 5 | 6.5 | 16 | 32 8 | 7 | 105 | ME DS9 4-13 9 6 | 32 28 34
20 | 45 _ 6.5 | 6.5 . 20 | 45 | 75 | 12 | 15 | W0 DS14 20-25 14 8 | 50 41 50
25 55 | e 6.7 5 | 4 7.5 12 15 | Mo | | i | | | |
2532 | 55 5 . 67 2532 | 45 | 15 | 12 | 15 M10 RSl : 20 i ! g | 28 i _ 2

» www.hidropaks.com.tr 1509001:2008 www.hidropaks.com.tr 1S09001 :20084




pressor Free Version

E.General

The ball valve can be connected with pipeline by welding.
Working temperature: -20°C- +100°C
Working pressure: PN = 160 bar

E’-.How to order |
kHB-As|ll 160§ 20 B 1| 2]

(1) 2 @B @ 6 6) ™

(1)Model:KHB—AS: Square body DN10 - DN 25

KHM—AS: Eight-square body DN32 - DN50/65
(2) Pressure setting: e.g. 160 bar
(3) Nominal diameter: e.g. 20 = DN 20
(4) Block and connection material: 1 = Carbon steel

4 = Stainless steel 304
(5) Ball & stem material: 1 = Carbon steel
4=Stainless steel 304

(6) Ball seat material: 1 = POM 4 =PTFE
(7) Connection & stem seal: 2 =NBR 4= FPM(Viton)

2-way Ball Valves with Welding Connections

EB.Dimensions
KHB-AS KHM-AS
__=
~— i | =
31 O SO | v, = ﬁg‘ ' -
- i D=
Il -
| g T
—

Model DN PN | W | L | I | H B h m v 11 d D sw
KHB-AS160-10 | 10 | 160 | 10 | 150 | 42 | 525 | 32 40 17 8 42 10 | 172 | 9
KHB-AS 160-13 | 13 | 160 13 180 48 | 525 | 35 40 17 8 51 13 | 21.3 9
KHB-AS160-16 | 16 | 160 | 15 | 180 | 47 | 635 | 38 46 19 11 55 15 | 213 | 12
KHB-AS160-20 | 20 | 160 | 20 | 200 | 60 75 | 48 57 24 12 50 20 | 269 | 14
KHB-AS 160-20/25 | 20/25 | 160 | 20 | 200 | 60 | 75 | 48 | 57 | 24 | 12 50 | 25 | 337 | 14
KHB-AS160-25 | 25 | 160 | 25 | 210 | 65 | 82 | 57 64 | 285 | 12 51 25 | 337 | 14
KHB-AS 160-25/32 | 26/32 | 160 | 25 | 210 | 65 82 | 57 64 | 285 | 12 51 30 | 422 | 14
KHM-AS 160-32 32 | 160 | 30 260 84 104.5 | 75 84 37.5 14 70 30 42.2 5 b

KHM-AS 160-32/40 | 32/40 | 160 | 30 | 260 | 84 | 1045 75 | 84 | 375 | 14 | 70 | 38 | 483 | 17
KHM-AS160-40 | 40 | 160 | 38 | 270 | 91 | 1155 | 85 95 | 425 | 14 72 38 | 483 | 17
KHM-AS 160-40/50 | 40/50 | 160 | 38 | 270 | 91 | 1155 | 85 95 | 425 | 14 72 48 | 603 | 17
KHM-AS 160-50 | 50 | 160 | 48 | 300 | 100 | 133 | 105 | 1125 | 52.5 | 14 72 48 | 603 | 17
KHM-AS 160-50/65 | 50/65 | 160 | 48 | 300 | 100 | 133 | 105 | 1125 | 525 | 14 72 63 | 761 | 17

KHB HYDRAULIC COMPONENT FACTORY
2- way Ball Valves with DIN-connections

h.How to order

i - I - -01-0 0 0 B0

(1) (2) (3) (4) e ©& @O (6 (O

(1) Model: KHB: Square body DN 16 - DN 25
KHM: Eight-square body DN 32 - DN 50

(2) Flange & adaptor type:

F = DIN-EN558-1, FTF, basicrange |, long type DIN 3202-F1

FF = DIN-EN558-1, FTF, basic range 14, short type DIN3202-F4
(3) Nominal diameter: e.g. 16 = DN 16
(4) Pressure setting: e.g. 40 = 40 bar
(5) Block and connection material: 1 = Carbon steel

4 = Stainless steel 304
(6) Ball & stem material: 1 = Carbon steel
4 = Stainless steel 304
(7) Ball seat material: 1 = POM
(8) Connection & stem seal: 2=NBR
4 = FPM(Viton)

(9) Flange material: 6 = Carbon steel

I» www.hidropaks.com.tr 1509001:2008

www.hidropaks.com.tr 1S09001 :20084'



[’3.Dimensions

pressor Free Version

SWi1

2- way Ball Valves with DIN-connections

KHBF 1T
!
: L1 _{
Lb | A
[ L
. ; ——
KHMF KHMFF 2 i
e [ |
e =
L1
: =]
— | —
Lb A
L L
Model | PN(bar) = tw | L | t1 | b | d1 | 42 | K B b | H | h  h2 | h3 | sw1
. 40 95 14 | 65 16
KHBF-016 | 160 15 | 130 | 47 | 105 | 45 | 14 | 75 | 38 | 20 | 635 | 19 | 46 | 11 | 12
| 315 | 128 18 | 90 26
KHBF—UZU__ 40 20 150 | 60 1 105 ! 55 I 14 7 I 48 | 18 75 24 57 |
: 40 115 14 85 | 18
| 160 138 18 | 100 24 12 | 14
KHBF-025 | 25 160 65 B85 o7 82 28.5 64
| 250 148 22 | 105 28
| 315 | 158 | 22 | 115 N
40 138 18 100 18
KHMF-032 | 30 | 180 | 84 | 78 75 104.5 | 37.5 | 84
160 155 22 | 110 26
|40 148 18 | 110 18
160 168 22 125 28
KHMF-040 | 38 | 200 | o1 | | 8 85 - 1155 425 @ 95
250 185 26 | 135 34
315 | 195 26 | 145 38
40 165 18 | 125 20
— = SRl IRl 14 | 17
|63 178 B =t
KHMF-050 | 159 48 230 100 195 102 2_6 ‘145 105 Bl_] ! 133 525 | 1125
| 250 | 198 26 | 150 38
| | 315 ! | 208 26 160 42 | |
KHMFF-032 40 30 | 130 | 84 | 138 | 78 | 18 | 100 | 75 | 18 | 1045 37.5 | 84
| KHMFF-040| 40 | 38 | 140 | 91 | 148 | 88 | 18 | 110 | 85 | 18 | 1155 425 | 95 |
| KHMFF—DSDé 40 48 150 | 100 165 102 18 125 | 105 | 20 133 | 52.5 112.5:

.. =

Ib www.hidropaks.com.tr 1S09001:2008

KHB HYDRAULIC COMPONENT FACTORY

2-way & 3-way Board Type Ball Valves

E.How to order.
Y - --E 2]

(1) 2 @ @ 6 (6 (@)

(1) Model: KHP = Board type 2 way ball valve
KHP3K = Board type 3 way ball valve
(2) Nominal diameter: e.g. 10=DN 10
(3) Porting pattern for 3-way ball valve (see Porting pattern):
L=L type
T=T type
(4) Block & screw plug material: 1 = Carbon steel
(5) Ball & stem material: 1 = Carbon steel
(6) Ball seat material: 1 =POM
(7) Screw plug & stem seal: 2=NBR
4 = FPM(Viton)

[2.Porting pattern

Hydraulic oil just can flow into valve through port “1” |

90" reversing

L type
and the valveonly can be sealed under the two
situations:

(1) Pressure at the closed port is zero;

(2) Pressure at the closed port is lower than at the two
open ports.

o - sl e
N

Q.Specification

(1) Nominal Pressure : 315 bar
(2) Nominal Diameter: 6mm,10mm,...50mm

www.hidropaks.com.tr 1S09001 :2008@



pressor Free Version
KHB HYDRAULIC COMPONENT FACTORY

2- way Ball Valves with DIN-connections 2-way & 3-way Board Type Ball Valves

Ed.Dimensions

1. KHP(PKH)

E4.Dimensions

Ib www.hidropaks.com.tr 1509001:2008

c 8 5 B
5 d P
: — 2. KHP3K « B R <
. 9
| t Y = 3
[ —y ‘L 4
i | Iy A 0 %
| | - - v
b | '3| - s o3
| x =
| T £
g 8
i (a5} P~
C-ring - i =
SW
| H
Model DN LW = L1 L2 L3 L4 L5 L& B B B1 y
KHP(PKH)-06 06 6 64 8.5 - 59 25 8.5 35 35 40 27 v
KHP(PKH)-10 10 9.5 80 8 27.5 71 29.5 10.5 44 55 56 40 e
KHP(PKH)-16 16 16 110 8.5 41.5 100 43.5 17 58 83 62 45 B
KHP(PKH)-20 20 20 127 10 48.5 117 51 20 69 a7 70 51
KHP(PKH)-25 25 25 145 10 57.5 135 62 24 81 115 80 60
KHP(PKH)-32 32 30 177 12 68 165 75 29 96 136 100 78
KHP(PKH)-40 40 38 192 28.5 56 180 85.5 28.5 112 112 130 95 T T T 2 | s | uw T T = T =
KHP(PKH)-50 50 40 245 38 68 220 106 38 136 136 149 112 KHP3K-06 64 8.5 - 59 25 0 35 35 175 40
KHP3K-10 80 8 27.5 71 29.5 2.5 44 55 19 56
KHP3K-16 110 8.5 41.5 100 | 435 85 | 58 83 26.5 62
. KHP3K-20 127 10 48.5 17| 51 10 69 97 32 70
Model . Sw1 o sw2 H H1 H2 D D1 b2 | D3 A S O-ring KHP3K-25 145 10 57.5 135 62 14 81 115 38 80
KHP(PKH)-06 9 22 39 30 6 6.6 11 6 | 12 1.4 23 12x1.9 KHP3K-32 177 12 68 165 75 17 96 136 46 100 |
KHP(PKH)-10 9 30 54.5 42 8 9 13.5 95 | 16 1.8 33 16x2.4 KHP3K-40 192 28,5 56 180 | 855 9. 12 12 56 180
KHP(PKH)-16 12 36 67.5 50 11 9 13.5 16 | 25 1.8 41 25x2.4 KHP3K-50 245 58 68 2200 |06 9 136 138 68 i
KHP(PKH)-20 14 41 80 62 12 10.5 16.5 20 | 30 2.4 51 30%3.1
KHP(PKH)-25 14 50 86 67 12 10.5 16.5 25 | 35 2.4 56 35x3.1
KHP(PKH)-32 17 65 110 90 14 13 19 32 | 40 2.4 77 40x3.1 il B 8 B S S e 2 Be = i Sty
- KHP3K-06 27 39 30 6 6.6 1 6 23 9 12x1.9
KHP(PKH)-40 17 75 120 100 14 17.5 26 38 | 50 2.4 82 50x 3.1 KHP3K 10 20 5a5 > . S 135 o5 23 i i
KREESHSY 17 e 130 110 4 22 33 | 48 | 56 27 | 88 56x3.5 KHP3K-16 45 67.5 50 11 | 9 13.5 16 41 12 25x2.4
KHP3K-20 51 80 62 12 | 105 16.5 20 51 14 30x3.1
KHP3K-25 60 85 67 12 10.5 16.5 25 56 14 35x3.1
Model Int.Hex.screw DIN912 Torque MA(Nm)(Friction coefficient=u 0.14) RHbIR 92 = 119 29 i 19 2 o i 4 il
KHP3K-40 9% 120 100 4 | 175 26 38 82 Ar 50x3.1
KHP(PKH]-06 M6-10.9 13 KHP3K-50 112 130 110 14 | 22 33 48 88 17 56x3.5
KHP(PKH)-10 M8-10.9 30
KHP(PKH)-16 M8-12.9 35
Model KHP3K-06 | KHP3K-10 KHP3K-16 | KHP3K-20 KHP3K-25 KHP3K-32 KHP3K-40 KHP3K-50
Serew Nail | M6x30 | M8x45 M8x50 |  M10x65 M10x70 M10x90 | M16x110 | M20x110
KHP(PKH)-25 M10-12.9 60 Torque(Nm) | 13 | 30 35 | 60 60 | 300 g 600
KHP(PKH)-32 M12-12.9 110
KHP(PKH)-40 M16-12.9 300
KHP<PKH)-50 M20-12.9 600

www.hidropaks.com.tr 1S09001:2008




pressor Free Version
KHB HYDRAULIC COMPONENT FACTORY

2-way Ball Valve with SAE-flange - BKH&MKH Ball Valve with SAE-flange

I! . How to order E How to order
EE2E BN-E1 0B 0 B D 2t BO-E-K K B B

(1) (2) 3 @ (6 () (@) (1) 2 G @ 6 (6 (@

BKH-SAE MKH-SAE

1) Model:BKH-SAE:Square body DN13-DN25
MKH-SAE:Eight -square body DN32-DN50
2 ) Pressure setting: e.9g.210=210 bar
3 ) Nominal diameter:e.g.13=DN 13
4 ) Block and flange material:1=Carbon steel
5 ) Ball& stem material:1=Carbon steel
4=Stainless steel 304
6 ) Ball seat material:2=POM 4=PTFE
7 ) Connection & stem seal:3=NBR 5=FPM(Vtion)

1) Model:KHSAE=Fixed flange ball Valve

2 ) Pressure setting: €.9.210=210 bar

3 ) Nominal diameter:e.g.32=DN 32

4 ) Block and connection material:2=Carbon steel

5 )Ball& stem material:1=Carbon steel
4=Stainless steel 304

6 ) Ball seat material:2=POM 4=PTFE

7 ) Connection & stem seal:A=NBR 8=FPM(Vtion)

E .Dimensions
E-Q.Dimensions

1.BKH-SAE
t
[am ]
L N 2l Rt g
le L LD K ) !
e ANk e \ QAP
, ; s [ a
210 bar (Obserwng flang s_pressure s_emng) . i i ) ) ] . _ ) ) SEA flange & O-ring supplied B
|____Model BN | b | ¢ |t | B | € | H° | w | sw | a | b | M [ 1t = Unpor CNIOmer @ fodlirorent B,
KHSAE210-15 | 15 | 15 | 75 | 33 | 78 | 31 | 83 | 11 | 12 | 175 | 38.1 ME | 16
| KHSAE210-20 | 20 | 20 | 80 | 35 | 98 | 37 100 | 12 | 14 | 222 | 476 | M10 | 18
KHSAE210-25 | 25 | 25 88 | 38 | 117 | 395 113 12 14 | 262 | 524 | Mi0 | 18
KHSAE210-32 | 32 | 30 100 50 | 145 | 68 160 14 17 30.2 | 58.7 | M12 | 20 PFTYRT
| KHSAE210-40 | 40 | 38 | 110 | 55 | 165 | 78 180 | 14 | 17 | 357 | 698 | M12 | 20 BINIIGpel)
| KHSAE210-50 50 | 48 | 116 | 58 | 197 | 94 | 213 | 14 | 17 | 429 77.8 | M12 | 20 Model DN | PN® | LW | L I B H h m | v | sw | KY | B | H t | a b M Weintik)
| KHSAE210-65 | 65 | 60 | 150 | 75 | 197 | 94 | 209 | 14 | 17 | 508 88.9 Miz | 20 BKH-SAE210 | 13 | 210 | 13 | 120 | 48 | 35 |525| 40 | 17 | 8 | o | 135 | 48 | 56 | 22 |17.5]38.1| M8 | 1.5
_KHSAE210-80 | 80 | 70 | 140 70 i 207 | 98 225 24 20 | 619 | 1064 | M16 i 24 BKH-SAE210 | 20 | 210 | 20 | 136 | 60 | 48 | 72 | 57 | 24 | 12 | 14 | 181 | 60 | 72 | 23 | 222|476 | M10| 3
| KHSAE210-100| 100 95 170 85 257 121 275 26 24 77.8 | 130.2 | M1s6 24 ' i
KHSAE210-125| 125 | 118 | 210 105 | 295 | 140 323 | 36 36 021 | 1524 | Mis | 30 BKH-SAE210 | 25 | 210 | 25 | 148 | 65 | 57 | 81 | 64 |[285| 12 | 14 | 181 | 70 | 81 | 27 |26.2 | 524 | M10| 45
420 bar (Observing flang’s pressure setting)
| - 420 bar (6000psi)
Model DN D L B 52 H v S a b t . - - -t - - = . . " - 4 — —_— T - v —
KHSAE420-15 | 15 15 | 75 313 L 31 83 11 1\2' 182 | 405 ' :a 16 skl BNTIENTL BN L E : L N R o R I S T R )
f - e ] B 4 BKH-SAE420 | 13 | 210 | 13 | 120 | 48 | 35 | 525 40 | 17 | 8 | o | 135 48 | 56 | 22 | 18.2|405| M8 | 15
KHSAE420-20 | 20 20 80 35 | 98 37 100 12 14 238 | 508 | Mio | 18 - o | - 1 b= - - - — :
T R = = e T et e T 6T o s e e % BKH-SAE420 | 20 | 210 | 20 | 136 | 60 | 48 | 72 | 57 | 24 | 12 | 14 | 181 | 60 | 72 | 23 | 2338|508 | M10| 3
f = — - BKH-SAE420 | 25 | 210 | 25 | 148 | 65 | 57 | 81 | 64 [285| 12 | 14 | 181 | 70 | 81 | 27 |27.8|57.2| M10 | 45
| KHSAE420-32 | 32 30 100 50 | 145 | 68 | 160 | 14 | 17 | 318 | 667 | mM14 | 22 L ! - ! - . - e ! - . : - .
KHSAE420-40 | 40 38 110 55 | 165 78 180 14 17 365 | 79.4 | M16 24 Note:(1) DN=mm
KHSAE420-50 | 45 | 48 | 116 58 | 197 | 94 | 213 14 17 445 | 9.8 | M20 | 28 (2) PN=bar

Ib www.hidropaks.com.tr 1509001:2008 www.hidropaks.com.tr 1509001:2008



pressor Free Version
KHB HYDRAULIC COMPONENT FACTORY

BKH&MKH Ball Valve with SAE-flange 2-way Ball Valves with SAE-flange(KHZ-series)

[2.Dimensions E.Howto order
iz ono[sacazofl I 2 - |
‘ 4
1 (@ (3) 4 ) 6 (@
1) Model:KHZ=KHZ series SAE flange ball Valve
2 ) Nominal diameter:e.g.DN 13
KI.'{: 5 .
i 3 ) Connetion standard & pressure setting:
| f_—_Cj : e.g.SAE420=SAE standard flange,PN420 bar
| | 4 ) Block and connection material:1=Carbon steel
| 4=Stainless steel 304
- 5 ) Ball & stem material:1=Carbon steel 4=Stainless steel 304
i 6 ) Ball seat material:2=POM 4=PTFE PN=420bar Tmax.=100"C
r == ~ i 7 ) Block & connection seal:A=NBR 8=FPM(Vtion)
— T7OY O
Ly
\l IS 7\
£ R = = = .
s -l = 1\ I2.Dimensions
B 8l \ Y7 )
x N _“\’/
=l ANSNZ T
N ) 5
a
S5EA flange & O-ring supplied B1 |
L under casfomer’s requirement > b@
o
1 @| D |
I
=| _|. _ E ’
o = T— © T T et | |
210 bar (3000psi) —_— = i@ ‘
, : EI -—L—-_T} | {7{ ’ 5
Modst [oNWpw® W | L | 1 |8 H [Rh[m]v]lew[k |B[H][t]a]lbo]| M i — 3
| MKH-SAE-210 | 32 | 210 | 30 | 172 | 84 | 75 [104.5| 84 |37.5 | 14 | 17 | 225 | 78 | 105 | 32 | 30.2 | 58.7 | M12 | 7.3 i
| MKH-SAE-210 | 40 | 210 | 38 | 177 | 91 | 85 [1155) 95 |425| 14 | 17 | 225 | 96 | 120 | 32 | 35.7 [ 69.8 | M12 | 10.8 a
| MKH-SAE-210| 50 | 210 | 48 | 196 | 100 | 105 | 133 1125/ 525 | 14 | 17 | 225 | 114 | 145 | 34 | 429|778 | Mt2 | 188 T b
MKH-SAE-210 |50/65| 210 | 48 | 196 | 100 | 105 | 133 |112.5| 525 | 14 | 17 | 225 | 114 | 145 | 34 | 50.8 | 88.9 | M12 | 18.8 -
420 bar (6000psi)
Model |DN™ PN®|[ W | L | B H  h | m v sw| K | B | H | t|a | b | M Model DN PN w | D | L H h | m
| MKH-SAE-420 | 32 | 350 | 30 | 172 | 84 | 75 |104.5| 84 |37.5| 14 | 17 | 225 | 78 | 105 | 32 | 31.8 | 66.7 | M14 | 7.3 KHZ-DN13-SAE-420 13 420 13 13 25 68 34 67 58 60
| MKH-SAE-420 | 40 | 350 | 38 | 177 | 91 | 85 [1155| 95 | 425 14 | 17 | 225 | 96 | 120 | 32 | 36.5 | 79.4 | M16 | 10.8 | KHZ-DN20-SAE-420 | 20 | 420 | 20 | 20 | 3 | 10 | 3 | s | 715 | 715
MKH-SAE-420 | 50 | 350 | 48 | 196 | 100 | 105 | 133 1125 525 | 14 | 17 | 225 | 114 | 145 | 34 |44.5 | 96.8 | M20 | 18.8 KHZ-DN25-SAE-420 | 25 420 25 25 | 40 78 39 955 | 82 82
Note:(1) DN=mm KHZ-DN32-SAE-420 | 32 | 420 | 25 | 3 | 45 | e | 4 | 1105 | 98 | 98
(2) PN=bar KHZ-DN40-SAE-420 | 40 420 30 38 | 55 99 49.5 1315 | 116 116
KHZ-DN50-SAE-420 50 420 38 49 65 120 60 153.5 138 138
Model | a b M | m t [ i | v | sSW . Screw Nail
KHZ-DN13-SAE-420 | 18.2 40.5 M8 | 29 15 | n 8 9 | M8x70
KHZ-DN20-SAE-420 23.8 50.8 I M10 | 37.5 | 17 12 | 32 | 14 | M10x 80
KHZ-DN25-SAE-420 | 278 | 57.2 Miz | 42 21 | 145 12 14 | M12x80
KHZ-DN32-SAE-420 | 318 | 666 | M14 | 49 | 22 | 145 | 12 | 14 |  M14x90
KHZ-DN40-SAE-420 | 36.5 | 79.3 M16 | 58 | 26 I 18 | 14 | 7 il M16 x 100
KHZ-DN50-SAE-420 445 | 96.8 M20 | 69 | 34 | 21 14 | 17 | M20x130

» www.hidropaks.com.tr 1S09001:2008 www.hidropaks.com.tr 1S09001:2008



pressor Free Version
KHB HYDRAULIC COMPONENT FACTORY

3-Way Ball Valves with SAE- flange BKH-SAE-FS & MKH-SAE-FS Ball Valves with SAE- flange

E.Howto order E'.HOW to order BKH-SAE-FS MKH-SAE-FS
i ME-CEDN-HH B nn ED-EO -0 b B B

(N @) I & (31 Kol (7 [8) (1) 2 @ @ G 6 (@

(1) Model: KH3K = KH3K series SAE flange 3 way ball valve
(2) Nominal diameter: e.g. DN 13
(3) Connection standard & pressure setting:

e.g. SAE420 = SAE standard flange, PN 420 bar
(4) Block and connection material: 1 = Carbon steel

4 = Stainless steel 304
(5) Ball 8¢c stem material: 1 = Carbon steel
4 = Stainless steel 304

(6) Ball seat material: 2=POM 4 =PTFE
(7) Block 8c connection seal: A= NBR 8 =FPM (Viton) PN=420bar Tmax.=100°C
(8) Porting pattern: L type (see left chart)

(1) Model: BKH-SAE-FS = Square body DN 13-DN 25
MKH-SAE-FS = Eight-square body DN 32-DN 50
(2) Pressure setting: 210 = 210 bar
(3) Nominal diameter: 13 =DN 13
(4) Block and flange material: 1 = Carbon steel (BKH-SAE-FS)
2 = Carbon steel (MKH-SAE-FS)
(5) Ball & stem material: 1 = Carbon steel
4 = Stainless steel 304
(6) Ball seat material: 2=POM 4 =PTFE
(7) Connection & stem seal: 3=NBR 5 =FPM (viton)

EERST
E .Dimensions

2.Dimensions

1.BKH-SAE-FS
SW
1
—!‘:,, O-ring E@;
} 1 1 N | |
= = | —
= | — =
1l e | (1| I el e e L |—aa ! _1_
. » .
i = = St
I t LW
4 d
Model BN | PN W | B | H h ' m  sw B
[ KH3K-DN13-SAE420 13 420 . 13 60 67 58 29 9
KH3K-DN20-SAE420 20 420 20 | 80 ' 88.5 | 75 37.5 14
| KH3K-DN25-SAE420 | 25 420 25 ' 94 | 955 | 82 . 42 14 _ :
KH3K-DN32-SAE420 32 420 3 | 100 | 17 | 100 50.5 17 €ionart 2000pst) _
KH3K-DN40-SAE420 | 40 420 | 38 ' 110 | a12z8 | 12 | 55 | 17 Model DN . 0 O O B | H DI v | swW d D t
KH3K-DN50-SAE420 50 420 [ 48 [ 135 [ 150.5 135 87.5 | 17  BKH-SAE-FS-210 13 | 210 | 13 | 151 | 48 35 | 52.5 | 40 | 17 8 | 9 25.5 302 | 6.8
BKH-SAE-F5-210 20 | 210 | 18 | 162 60 48 | 75 57 | 24 12 14 31.9 381 | 6.8
BKH-SAE-FS-210 25 210 | 25 | 178 64 57 | 82 64 | 285 | 12 14 | 398 | 444 | 84
Model - a b L B o e : ' ' ' ' ' ' ' ' '
| KH3K-DN13-SAE420 | 8 182 | 405 M8 43 8.5 13.5 9 TS
| KH3K-DN20-5AE420 | 12 228 | 508 Mi0 | 60 105 16.5 1 ; Rk na R T R
| KH3K-DN25-SAE420 | 12 278 | 572 | Mi2 | 70 10.5 16.5 11 Medsl 21 O S i b f 0 |8 i < I [ r v Jo W | O P WER
KH3K-DN32-SAE420 | P 318 | 666 | Mi4 s PP PP 3 BKH-SAE-FS-420 13 420 | 13 151 48 35 52.5 40 17 8 9 255 | 318 | 7.9
| KH3K-DN40-SAE420 | e 65 | 794 Mie | 78 o7 ‘ 75 & | 8KH-SAE-FS-420 20 315 | 19 174 60 48 | 75 57 | 24 12 14 | 319 | 418 | 839
| KHIK-DNS0-SAE420 | 1 445 | 968 M0 | 108 13 | 10 13 BKH-SAE-FS-420 | 25 315 | 25 198 | 64 57 | 82 64 | 285 | 12 14 | 398 | 476 | 98
Note: (1) DN=mm; Note:(1) DN=mm
(7) PN=bar; (2) PN=bar

» www.hidropaks.com.tr 1S09001:2008 www.hidropaks.com.tr 1S09001:2008



pressor Free Version
KHB HYDRAULIC COMPONENT FACTORY

BKH-SAE-FS & MKH-SAE-FS Ball Valves with SAE- flange Ball Valves with Mineral Quick Connections

'2.Dimensions 51.Howtoorder
SEKHINE 10 [ 1123 [ 1
2.MKH-SAE-FS (1) (2) (3) (4) (5)
1) Model: BBKH=2 way ball valve with mineral quick connections
S . 2 ) Norminal diameter:e.g.10=DN10
3 ) Material:1123=Carbon steel, =
NBR=(connecUonseaD), L
— I POM=(ball seat)
i 4 ) Surface finishing:1=Zinc plating(yellow) 1Y
: = 2=Cr3 plating(silver
_ [ IS — ' N _I _____ L B ol =iy B = 2 p g( )
5 ) Connection type:FF=Double female connector
e FM=0ne female connector one male connector
t |
e L -
! 12.Dimensions
L
SW SW
210bar( 3000psi) ‘
Model | oN | PN | tw | L | & | B | H | h | m | vV | sw | d | D | 't . ‘@ — - ‘@
MKH-SAE-FS-210 | 82 | 210 | 30 | 191 | 84 | 75 | 1045 | 84 | 375 | 14 | 17 | 445 | 508 | 8.1 | a _| B B S
| MKH-SAE-FS-210 | 40 | 210 38 | 231 | a1 85 _115.5_ 95 | 42.5 | 14 | 17 54.1 | 60.3 | 8.1 | O =
MKH-SAE-FS-210 50 210 | 48 | 232 100 | 105 133 | 1125 | 525 14 17 | 636 | 714 | 9.6 \ _$ — . _$
| |
L1 L1
420bar(6000psi) L L
Model DN PN Lw L I B H h m v SW d D t g
| I\."I_K_H_—SAE—FS—AZO 32 350 | 30 223 84 | 75 10_4._5 a4 375 __14 : i 44.5 54 10.4
[EMRhonERota0 | 40 I S0 20 | A6l 1 Q4 I 65 | {iSe ] 9o ARl Wb | {1 D sal SRS | (&
MKH-SAE-FS-420 50 350 | 48 316 100 | 105 133 | 1125 | 525 14 17 | 636 | 794 | 127
Note:(1) DN=mm Model DN PN(bar) [ L1 D d SW
(2) PN=bar |
BBKH-10-1123-1-FF
10 500 113 42 30 9
BBKH-10-1123-1-FM 14
BBKH-13-1123-1-FF
13 500 118 48 35 9
BBKH-13-1123-1-FM 18
BBKH-20-1123-1-FF
- 20 315 138 60 40 - 14
BBKH-20-1123-1-FM 24
BBKH-25-1123-1-FF
- 25 315 151 65 52 - 14
BBKH-25-1123-1-FM 31

Connections complied with SAE J1467 and DIN 20043

b www.hidropaks.com.tr 1S09001:2008 www.hidropaks.com.tr I809001:20084



pressor Free Version

[:‘l. How to order

EE-GZ-0-K K B B-Ed

(1) 2 @) @ () () (™) (8)

1) MOdel:KH3=3way ball valve
KH4=4way ball valve

2 ) Thread size or pipe outside diameter:

A=Female thread ISO 228 (see Dimensions)

B=Male thread JB984-77 (see Dimensions)

C=Male thread DIN 2353 light series(see Dimensions)

D=Male thread DIN 2353 heavy series(see Dimensions)
3 ) Ball Symbol:KH3-L;KH3-T;KH4-L; KH4-T;KH4-X
4 ) Block & connection material: 1=Carbon Steel

4=Stainless steel

6 ) Ball seat material:1=POM
7 ) Connection & Stem seal:2=NBR
4=FPM
8 ) Porting panern type:e.g.SB01(see Porting pattern)

5 ) Ball & Stem material:1=Carbon steel J --
4=Stainless steel /\
\ .

[ 2.Porting Pattern

3 way ball valve L type 90° reversing, 45° closure

2

NENANES

SBO1

13

3 way ball valve L type 80° reversing, 45° closure

2

Multi-way Ball Valves with Threaded Connections

A\

1 \ 3
SB02 B A

13

3 way ball valve T type 90° reversing 2
4

SB03 ‘I 3

Ib www.hidropaks.com.tr 1509001:2008

KHB HYDRAULIC COMPONENT FACTORY

Multi-way Ball Valves with Threaded Connections

I'2.Porting Pattern

3 way ball valve T type 180°

SB0o4

SBO5

SBO6

4 way ball valve T type 180° reversing

SBoO7

SB08

4 way ball valve T type 180°

SB09

reve

rsing

TT—l

3

TT_I

13

4 way ball valve X type 90°

SBO10

2 4
2 11 [ \L I I7L
5 o 7 R JERHBE
13
4 way ball valve T type 90° reversing
2
IE 1
[_—I TT T
13
reversing
24
J S SE l__lL = S
1 0 B
13
reversing
24
o X
T T
13

g R & W
4 . 1
i 1 B 1 ©

www.hidropaks.com.tr 1S09001:2008 4'



pressor Free Version
KHB HYDRAULIC COMPONENT FACTORY

Multi-way Ball Valves with Threaded Connections Low Pressure Ball Valves with Threaded Connections

l3.Dimenslons E How to order|
T - O - B3 - B
(1) (2) (3) (4)
o L
i e 1) Model:KHNV=Low pressure ball valve
@ @ ‘:@154 2| 2 ) Type:N=Standard type
S 3 ) Connection size:e.g.G1/2
4 ) Material:Block
- @ e i I .
A= e =2 i W@ — g Connector and stem=Brass with nickle plating
e : ;
S= = Ball=Brass with Chrome plating
i , Ball seat=PTFE
-~ : 3 bLW .
@ | G;} : Connection seal=NBR or PTFE
T | ‘ |
E_.Dimensions
LW
Connections Mode! DN RA d1 Bf [ |2 || H | hil| K2 | 63| d2 |swilswe
e s
KH3/4-G1/8 04 5 5 4.5 = G1/8 10 100: 70 42.5: B0 | 570 22 40 [(11.0| 6.5 12 24 A
KH3/4-G1/4 |06 | 5 | 5 | 45| - | G4 | 14 |100| 70 |425| 55 |57.0] 22 | 40 |11.0| 65| 12 | 24 |
. L ! 1 1 ! ! : . : | I
KH3/4-G3/8 10 g 9 5] = G3/8 14 | 115 | 80 46 65 | 675 27 50 |11.5( 6.5 14 30
KH3/4-G1/2 | 16 | 12 | 12 | 10| - | &tz | 16 | 135|100| 56 | 80 |77.5| 31 | 60 |11.5| o | 14 | 36 S
KH3/4-G3/4 20 18 18 14 = G3/4 18 | 144 | 100 | 58 | 856 |92.0| 86 73 (116 9 17 46 / =
KH3/4-06LR | 04 | 5 | 5 :4.5 6 |M12x1.5| 10 | 105 | 70 42.5: 55 [57.0| 22 | 40 |11.0| 65 | 12 | 24 ] [ et
KH3/4-08LR 06 5 . 5 4.5 8 .M14x1.5? 10 105. 70 |42.5| &85 |57.0| 22 40 |111.0| 6.5 12 24 a a| = l- - — }—H-‘ —H— 5 —— —
| i i | 1|
KH3/4-10LR | 08 | 9 | 9 | 6 | 10 |[M16x15| 11 |114| 80 | 46 | 65 |67.5| 27 | 50 [11.5| 6.5 | 14 | 30 __I' l e —
KH3/4-12LR 10 9 9 (5] 12 _M‘IBxT.S 11 | 144_ 80 | 46 | 65 |B7.5| 27 50 |11.5| 6.5 14 30
KH3/4-15LR | 12 | 12 | 12 | 10 | 15 |M22x1.5% 12 | 136|100 | 56 | 80 |77.5| 31 [ 60 [11.5| 9 | 14 | 36 L
KH3/4-18LR 16 12 12 10 18 |M26x1.5| 12 136_ 1DDI 56 | 80 | 5] 31 68 |15 9 14 36
KH3/4-22LR | 20 | 18 | 18 | 14 | 22 | M30x2 | 14 | 143|100 | 58 | 85 [92.0| 36 | 73 [11.5| 9 | 17 | 46
| KH3/4-08SR | 04 | 5 | 5 | 45| 8 |M16x157 12 [105| 70 |42.5| 55 |57.0| 22 | 40 [11.0] 65 | 12 | 24
/.1 | KHa/a-10SR | 06 | 5 | 5 | 45| 10 |misx1.5| 12 | 105 | 70 |42.5| 55 |57.0] 22 | 40 |11.0| 65| 12 | 24 Model LW Pn,., d D L A H SW
= : KH3/4-125R (0]:] 9 9 . 6 12 |M12x15 ]| 12 116. 80 | 46 65 |B67.5 .2? 50 | 1158 65 14 30 KHNVN-G1/4 8 40 Gll4 24 a1 80 44 19
M | KH3/4-14sR | 10 | 9 | 9 | & | 14 |[M20x1.57 14 | 120| 80 | 46 | 65 |67.5| 27 | 50. |11.5| 6.5 | 14 | 30
_' = i : : i i KHNVN-G3/8 10 40 G3/8 24 43 80 46 19
KH3/4-165R 12 12 12 10 16 | M22:x1.5| 14 140 | 100 | 56 80 | 77.5] 21 B0 | 115 @ 14 36
KH3/4-20SR | 16 | 12 | 12 | 10 | 20 | m30x2 | 16 | 144 | 100| 56 | 80 |77.5| 31 | 60 [11.5]| 9 | 14 | 36 KHNVN-G1/2 15 40 G1/2 32 56 98 55 25
KH3/4-255R | 20 | 18 | 18 | 14 | 25 | M36x2 | 16 | 151| 100| 58 | 85 |92.0{ 36 | 73 [115] o | 17 | 46 | GG i 4 - i - - ” 41
|KH3fa-M12x1.25| 04 | 5 | 5 | 45| 8 |M12x1.25¢7 10 | 105 | 70 |42.5| 55 |57.0| 22 | 40 |11.0| 6.5 | 12 | 24
; ; ! : . ; KHNVN-G1 25 40 G 48 73 112 68 38
KH3/4-M16x1.5| 06 5 =] 4.5 11 [ M16x1.5 1 105 | 70 46 55 | E7.0]| 22 40 [11.0| 6.5 12 24
KH3/4-M22x15| 08 | 9 | o | 6 | 16 |mM22x1.5| 12 | 116| 80 | 46 | 65 |67.5| 27 | 50 |11.5( 65| 14 | 30 KHNVN-G1'/4 32 30 G1'/4 58 84 12 80 48
.KH31’4-M2?X 1.5| 10 9 9 . 5] 20 |M27x1.5% 16 | 105 | 80 | 46 . 65 [67.5| 27 | 50 [11,5| 6.5 | 14 | 3D KHNVN-G1'/2 40 30 G1Y2 70 g5 138 98 54
KH3/4-M30x 1.5 16 | 12 | 12 | 10 | 24 |M30x1.5| 16 | 134 | 100 | 56 | 80 |77.5| 31 | 60 [11.5| 65 | 14 | 38
- ; ! - ! . : KHNVN-G2 50 30 G2 87 112 138 107 65
KH3/4-M36x2 | 20 | 18 | 18 | 14 | 30 | M36x2 | 18 | 135|100 | 58 | 85 |92.0| 36 | 73 |11.5| 9 | 17 | 46 |

b www.hidropaks.com.tr 1S09001:2008

www.hidropaks.com.tr 1S09001:2008




pressor Free Version
KHB HYDRAULIC COMPONENT FACTORY

Check Valves Pressure Testing Adaptor

E'. How to order
- BB - ™

(3) (3) (3) [
(1)Model:AYR=ATR series check valve :
(2)Thread size:e.g.G1/2 ) | b
(3)Cracing point:e.g. 0.5 bar |
5 bar
Gasket

12.Dimensions ﬁ

E.General

The adaptor is connected with pressure testing device and
pressure gauges to test the pressure in hydaulic system.

P

S

&.Specificatons

0.5 kar

(1)Nominal diameter:DN=3mm
(2)Max.Working pressure=400 bar

ATR-GH2

A
( o~ = H—-—l- =
; ——
\
B \ L =
— - -+ o — s L1
\ J M
{ \ Depth “H"
\ L
L
PT And PPT Series Pressure Testing Adaptor Gasket Seal(without exhausting)
Model " Original Model M1 M2 | L L1 s | Hose adaptor type
PT-1 PT-00 M10x1 M12x1.25 | 33 8 17 H1
PT-2 PT-00A1 I Mot M16 | 46 10 19 H2
Mogel : i _ g L i i i . PT-3 PT-00A2ID1-3M14X15|  M14x15 |  M16 | 46 12 19 H2
ATR-G1/4 6 400 62 18.5 19 G1/4 12 PT-4 DI-3/M10X1 M10x1 M16 | 46 10 19 H2
ATR-G3/8 10 ' 400 70 23.5 24 G3/8 14 ' PT-5 | bplcamixts | mixs | M16 | 46 T 12 1 19 H2
ATR-G1/2 12 ' 350 e 295 30 G112 16 ' PT-6 | DI-3mM18x1.5 M18x1.5 M16 i 46 12 24 H2
ATR-G3/4 | 16 j 350 90 | 35.5 36 [ G3/4 18 | il Sl b M16 | ge 12 i 25
- 4 : 4 - : PT-8 BZ M12x1.5 M14x1.5 | 50 | 12 . 17 H3
plAE i | — _ i R ll 46 s Il . | PT-9 KF-1/M10X1 M10x1 M16x1.5 | 46 | 11.5 ' 19 ' H4
ATR-GI-t4 | 25 ; 250 130 ‘ 94.5 95 | Sid 22 . PT-10 KF-1/M12X1.5 M12x1.5 M16x1.5 | 46 | 115 | 19 H4
ATR-G1-1/2 30 250 140 64.5 65 G11/2 | 24 ' PT-11 KF-1/M14X1.5 M14x1.5 M16x1.5 | 46 | 11.5 ' 19 ' H4
ke | 40 ’ 250 160 ' o e ' - | o5 ' ' PT-12 KF-1/M18X1.5 | M18x1.56 | M16x1.5 | 46 | 115 24 | Ha
PPT Series Pressure Testing Adaptor (with exhausting)
Model Qriginal Madel M1 M2 L L1 s Hose adaptor type
PPT-1 PT1-00 M10x1 M12x1.25 33 _ 10 17 _ H1
PPT-2 PT1-00A1 | miox1 | M16 46 . 10 19 . H2
PPT-3 PT1-0D0A2 M14x1.5 | M16 48 _ 12 19 _ H2
PPT-5 M12x1.5 | M16 46 12 19 _ H2

www.hidropaks.com.tr 1S09001:2008 www.hidropaks.com.tr 1S09001:2008




pressor Free Version

Pressure Testing Adaptor

PT series pressure testing adaptor with rectangular gasket(without exhausting)

size matched with adaptor

KHB HYDRAULIC COMPONENT FACTORY

Pressure Testing Hose Assembly

f1 How to order

(1)

(2) (3) (4) (5) (6) (7)

$19.5
Bevel flat gasket M1 "‘?
B !_ LA |
11
= |
=TI - O = 1 1 +
L
n I fZJ
L1
S
L
Model M1 t1 12
PT-21 M10x1 10 13
PT-22 G1/4 13 16
PT-23 M14x1.5 13 16
Model M1 M2 L L1 S Hose Adaptor type
PT-21 M10x1 M16 46 8 19 H2
PT-22 G1/4 M16 50 12 19 H2
PT-23 M14x1.5 M16 | 46 12 19 H2
Dl series pressure testing adaptor O-ring(without exhausting)
size matched with adaptor
12
m] O-ring =
/ $15. 7
// 9/16-18UNF|
/] |
o~ - e = b
= S = I L S
m: % -+ x/ e
.| ' =] o9
° | . ol | ©
1 d
L1 .
| |
: | /j
Model M1 M2 L L1 5 Hose Adaptor type
DI-3 9/16-18UNF M16 46 12 19 H2

Hose adaptor type (see page 36)

www.hidropaks.com.tr 1S09001:2008

(1)Mini high pressure hose adaptor assembly (4)Connecting type of another end

(2)Connecting type of another end
J:Adjustable fitting

0:Cone seal fitting

H:Quick fitting

P:Direct connect to pressure gauge
K:Tube jam fitting

G:Outor fixed thread
S:Snap-check fitting

E:Outer thread

(3)Connecting Thread of another end
J. K. OType-1:M10x1
2:M14x1.5
P. SType-1:M14x1.5
2:M20x1.5
3:G1/4
HType-1:M12x1.5
2:M16
3:M14x1.5
4:M16x1.5
G Type-1:M12x1.5
2:M14x1.5
3:M16x1.5
E Type-1:M14x1.5
2:G1/4

12.Hose assembly

J:Adjustable fitting

O:Cone seal fitting

H:Quick fitting

P:Direct connect to pressure gauge
K:Tube jam fitting

G:QOutor fixed thread

S:Snap-check fitting

E:OQuter thread

(6)Connecting Thread of another end

J. K. OType-1:M10x1

2:M14x1.5
P. SType-1:M14x1.5
2:M20x1.5
3:G1/4
HType-1:M12x1.5
2:M16
3:M14x1.5
4:M16x1.5
G Type-1:M12x1.5
2:M14x1.5
3:M16x1.5
E Type-1:M14x1.5
2:G1/4

g

(6)Nor.Dia:2mm;3mm
(7)Pressure Class:40Mpa
(8)Lerght of hose unit

- - — - —

M16
i

www.hidropaks.com.tr 1S09001:2008




pressor Free Version

E .Dimensions

3.1 Adjustable fitting:HF J* Unit:mm

jc gaskel s

i | M I H | L !Sarnimetsiliic gasket
J1 | Mmiox1 | 17 [ 10 | 22 | 33 | 10
J2 | M14x1.5 | 19 | 14 | 26 | 40 | 14

3.3 Quick fitting:HFH = Unit:mm

Connected with
PT adapter 5

Hix M2 8
H1 M12x1.25 17
Hz | M16 1 19
H3 M14x1.5 1T
H4 M16x1.5 19

3.5 Tube jam fitting:HFK *  Unit:mm

Semimetallic gaskel

K | M % s Semimetaillic gasket |
K1 [ miox1 | 8 | 81 | 17 | 10
K2 | M14x1.5 12 | 55 19 14

3.7 Snap-check fitting;:HFS *  Unit:mm

=
S M S L | |
S1 M14x1.5 12 104 | 19
s2 M20x1.5 14 106 | 24
s3 Gi/4 | 12 | 104 | 19

Pressure Testing Hose Assembly

3.2 Cone seal fitting:HF O*  Unit:mm

Semimetallic gasket S 519

KHB HYDRAULIC COMPONENT FACTORY

Multi-function Inflator

I1.Genera|

PFU series multifunctioal inflator is used to
accumlator for charging or checking pressure.

l;h.How To Order

I - 68 - KO0

(1) (2) (3)

(1) Model: FPU = Multi-function inflator
(2) Pressure setting: eg. 31.5=31.5 Mpa

(3) Connection thread to accumulator (see diagram)

(E | |
01 | M10x1 | 8 | 54 | 17 | 10
02 | M14x1.5 | 12 | 58 | 19 | 14
3.4 Direct connect to pressure gauge:HFP* Unit:mm
5
- S R Y e —rr
1
L
P | M | & | € I
P1 | M14x1.5 | 17 | 34 10
P2 | M20x1.5 | 24 | a2 18
P3 | G1/4 | 17 | 34 10
P4 | G1/4 | 27 | 35 11
3.6 Outer fixed thread:HFG *  Unit:mm
Double direction adapter g
e
= @ e—ee—e— e =
L
G M S L I
G1 M12x1.25 17 8 31
G2 M14x1.5 17 10 33
G3 M16x1.5 19 10 33
3.8 Outer thread HFE* Unit:mm
Semimetallic gasket
- [ | — —
‘\ w |
&
I
L
E¥x | M | s L
E1 | Mi4x15 | 12 | 34 19
E2 G1/4 12 | 34 19

www.hidropaks.com.tr 1S09001:2008

2000
A-A ——
) = e e S = B
>
i =
>
= | 53 | 51 |
<] =
* |
N )
Q,.!, IJ‘“\ — A - X"
- S _
- TR A
AN NN
N7 =
" - l
N9kt =
Nl - 3
Mk ?a l
| z
M28X1, 5 '
M2Bx1. 5 M28x1, 5 M2Bx1.5 M28x1.5
L
v % |
i f o
1/8-14UNF 5/8-18UNF : 5/16-32UNF M14x1.5
PN [ Matched pressure gauge Connection thread to
e — | | th
(Mpa) Measure range Precision rate | Hesslleng accumulator
FPU-10 10 ‘ 0-18 M28 X 1.5
I M14 X 1.5
EPU-20 20 0-25 1.5 2000 5/16UNF
5/BUNF
FPU-40 31.5 | 0-40 TIBUNF

www.hidropaks.com.tr 1S09001:2008




pressor Free Version
KHB HYDRAULIC COMPONENT FACTORY

Split Flanges - Handle

1. Zina alloy pressurt crank handle (code: 04)

1S06162. SAEJ518Standard split flanges

L3
= L5 .
L6 . . : . . ;
. - * sSW L | H H1 D | d Hexboit
9 78 8.5 35 225 13 M5x8
- L7 | { | |
1 9 120 . 8.5 36 5 15 M5x8
12 155 ' 12 50 ' 285 19 M6x10
14 170 : 13 55 _ 32 ' 20.5 M6x10
- = .
- 1 2. Steel pressure straight handle (code: 05)
Y
1
— 2 1 _ = € —-—<-—=-—-=
* g =
L
A 4 Sw I
— S¢d
|
o 1
g i >_ -— - — - — 7
A
sSW L H | D d | Hexboit
9 145 _ 8.5 | 24 19 | M5x20
12 180 12 | 28 22 | M5x25
FL Linght series 14 . 200 ‘ 13 | 32 _ 24 | M6x25
- oo | 17 260 15 36 26 MBx30
Madel DN mm Size A | T M| L 3 | e | s || s | Ly d d1 R |Weight/Kg | | | | 5
FL-08 15 1/2" 175 | 381 | 243 | 54 | 22 8 19 | 13 | 6.2 9 31 8 0.20
| 3. Steel pressure crank handle (code: 06) 4. DN80~DN125 Handle
FL-12 20 3/4" 22.3 | 476 | 323 | 65 | 25 | 10 | 22 | 14 | 62 | 11 | 389 | o 0.24
FL-16 25 1* 26.2 524 | 385 | 70 | 285 | 12 | 22 | 14 | 75 | 11 | 453 | o 0.30 :
FL-20 32 1-1/4" 302 | 58.7 | 437 | 80 | 355 | 14 | 24 16 | 75 | 1 | 516 | 10 0.50
FL-24 40 1-1/2" 35.7 | 69.9 | 50.8 | 94 | 405 | 17 | 25 | 16 | 7.5 | 135 | 611 | 12 0.66
FL-32 50 2 429 | 77.8 | 62.8 | 102 | 475 | 205 | 26 | 16 | 9 | 135 | 723 | 12 0.85
FL-40 65 2-1/2" 50.8 88.9 74.9 e 49.5 24.5 38 19 | 9 13.5 84.9 13 1.26 ]l t K 1]
_— e
= e e 5:
FS Heavy series E'_; i
Model | DNmm A T | M | L1 | 138 4| L5 | L6 | L7 | d | a1 | R |weightKg - i“
FS-08 15 172" 182 | 405 | 246 | 56 | 23 8 22 | 16 | 7.2 9 | 825 8 0.22 % séu
FS-12 20 3/4" 238 | 50.8 | 325 | 71 29 1 28 19 | 82 1 42 10 0.41 % . f-‘—-—-——‘;ﬁ
FS-16 25 4 278 | 572 | 388 | 81 34 13 33 | 24 | 9.0 | 135 | 484 | 12 0.57 WL A [ m o [ @] tesst | remak sW | L | H | HI | D | Hexboit | Forballvoixe
FS-20 32 1-1/4" 31.8 | 66.7 | 445 | 95 38 | 15 38 | 27 9.8 | 155 | 54.8 14 1.34 [ @ [135 | a5 | 38 | 26 | 17 | M5x8 20 | 600 | 78 | 58 30 |  M10x20 | DN80
FS-24 40 1-1/2" | 365 | 794 | 516 | 113 | 465 | 17 | 43 [ 30 | 12 | 175 | 643 [ 17 | 1.62 | 12 [165| 12 | 60 | 31 [ 21 | wmex10 | |24 900 | 82 | 61 | 32 | M10x20 | DN100
FS-32 50 2" 445 | 96.8 | 676 | 133 | 56 | 21 | 62 | 37 | 12 | 22 | 802 | 18 | 3.64 12 [ 165 | 12 | 55 | 31 | 20 | Méx10 _[Forroundflange | ge oy gs | v 150 | Mizas ) BRAS
HEpa 9 14 | 181 13 | 67 | 33 | 22 | M6x10 |Forroundflange
17 | 223 | 15 | 75 | 36 | 26 | M8x12

Ip www.hidropaks.com.tr 1S09001:2008 www.hidropaks.com.tr 1509001:2008



pressor Free Version

Bladder Accumlator

=

1.Mechanism

Inner space of accumulator is divided into two parts by bladder: nitrogen is filled in bladder and
hyraulic oil is filled the bladder. When hydraulic oil is pressed into accumulator by hydraulic valve,
bladder deform by the pressure. voiume of gas decreases With trie increasing of pressure Hydraulic
oil is stored gradually. If hydraulic system nead hydraulic oil to work,accumulator discharge the

hydraulic oil and compensate the system energy.

Adding Nitrogen ‘
f : 0 F

il

I i Pressuring

Accumulate Expansion

Ib www.hidropaks.com.tr 1S09001:2008

ASME Accumulator

f--‘I.How To Order

il - O - B/ EX3

(1) (2) (3) (4)

(1) M =ASME standard accumulator
(2) B =Bottom Ropair
T= Top Repair
(3 ) Nominal Capadty: 25=25gal
(4 ) Nominal pressure: 3000=3000psi

[2 Specification

2.1 Structure:bottom repair structure,top repair stucture.
2.2 Fastening Method:dead ring or bearing.

2.3 Installation :veriical

2.4 Medium:hydraulic oil,emulsion

2.5 Working Temperature:-20°C -+93C
2 .6 Gas filled in the bladder:nitrogen.

k
2/

AR
S gy NN
E=EEEz B}
W -
A

e

KHB HYDRAULIC COMPONENT FACTORY

Bottom Repair Construction

77

V777772

VI TIITL P

%,,

Top Repair Construction

www.hidropaks.com.tr 1S09001:2008 4'



pressor Free Version KHB
HYDRAULIC COMPONENT FACTORY

ASME Accumulator PED(CE marking) Accumulator

Ea.Dimensions E.How To Order

Interpretation of designation PED(CE marking)

. | Size
Pressure Volume Weight | i m e m / m
Model - A B M

gal L | s | Psi | kg | mm | mm | mm | mm NPT (1) () (3)
MB0.25/3000 0.25 1 11 s | e114 50 325 | 195 | 3@ (1) PED =CE standard accumulator
MB1/3000 1 [ 4 32 | 145 | 4168 60 385 | 315 | 14 (2) Nominal Capagcity: 50=50L
MBS P00 &3 i i | i s (3) Nominal pressure: 345=345 bar
MB5/3000 5 [ 19 140 | 64 _ 865 | 710
MB10/3000 10 38 230 | 104 | | 1435 | 1280
MB11/3000 11 42 240 | 109 1540 1385 J2. Specification
MB14/3000 o 14 | 83 | 218 | 126 ; | 1875 | 1720
MB15/3000 _ | 15 | s7 | 200 | 132 | g an |88 Lol 2.1 Structure:bottom repair structure,top repair stucture.
MT2.5/3000 | 28 | 10 | 85 | 43 | | 5% || 449 2.2 Fastening Method:dead ring or bearing.
MT5/3000 _ | S |19 | 140 | B4 | 856 | 710 2.3 Installation :veriical
MTNse00 ot | 88 | 280 | 104 | 1425 | 1280 2.4 Medium:hydraulic oil,emulsion
MT11/3000 |1 | 42 | 240 | 109 | | 1530 | 1385 2.5 Working Temperature:-20°C-+93C
il | | o0 | @70 | 130 | i O 2 .6 Gas filled in the bladder:nitrogen.
MT15/3000 15 57 290 | 132 | 1975 | 1830 |
MBO0.25/5000 | | 025 | 1 | 12 | 55 | o114 50 325 | 195 | 34
MB1/5000 L L4 | a4 | 20 | o168 | 60 | 385 | 315 | 14"
MB2.5/5000 | 25 | 10 | 128 | 58 555 400
MBS5/5000 [ s 19 | 185 | ea : 860 | 700
MB10/5000 ' ' 10 | 38 | 300 | 13 | 1450 | 1295
MB11/5000 T | a2 | 32 | 146 | 1570 | 1415
MB14/5000 |14 | s3 | 302 | 178 1935 1780
MB15/5000 R 15 | 51 | a4 | 188 ’ | 2085 | 1900 .
MT2.5/5000 ! |25 | 10 | 128 | s8 haez 7 s 400 2
MT5/5000 1 5 | 19 | 185 | 84 ’ 845 | 700
MT10/5000 | 10 | 38 | 300 | 136 1440 1295
MT11/5000 1 T | a2 | 32 | 146 ’ 1560 | 1415
MT14/5000 14 | 53 392 | 178 | 1325 | 1780 =
MT15/5000 15 27 414 | 188 | 2045 | 1900

/////7/
|l

i\
. i Ny ]
- ! e | %
\
N
i M
Bottom Repair Construction Top Repair Construction

b www.hidropaks.com.tr 1S09001:2008 www.hidropaks.com.tr 1S09001:2008



pressor Free Version

PED(CE marking) Accumulator

E .Dimensions

Size(mm)
Nominal
Model Nominal Pressure Capacity Wcla(tght
(bar) (L) (kg)
] £ L2 L M

PED1/34.5 1 5.8 197 302

® 114 47 - . G3M4
PED1/34.5 2.5 10 427 532
PED4/34.5 4 G 307 428

$ 168 63 - u G1'/4
PEDG6/34.5 6 21 437 558
PED10/34.5 10 37 427 571
PED15/34.5 345 15 49 582 725
PED20/34.5 20 61 737 881
PED24/34.5 24 70 $229 86 857 1001 G2
PED32/34.5 30 87 1107 B
PED40/34.5 40 105 1354 1498
PED50/34.5 50 1n7 1663 1807

www.hidropaks.com.tr 1S09001:2008



